300 x 300x 10x 15 (SS400)

= 118.4 cm’
x = 1350 cm = 450 cn®
X = 20200 cm’ y = 6750 cm'
x = 13.1 cm y = 7.55 cm
= 30.0 cm
3
oc = o 900000 x 107 _ /e
11840
6
ob = o 100000 x 107 _ o\
X 1350000
k 900.0
Y - = 119.205 K/ y 92
y 7.55
2
o cay = {1,200,000/6700+( k/ y)}x 1.5 = 8 N/
kx _ 500.0 - 33 168
X 13.10
2
o eax = 1,200,000/( k/ x) = 824 N/mm?
= 500.0 = 16.667 4.5 I/ 30
30.0
o0 bagx = {140-2.4x (1/ -4.5)}x 1.5 166 N/
oc ob
o cay o bagx 1-0c o eax
42 74
= = 0.958
86 166 x (1 42 824 )
ob
ocC
1-0 c 0 eax
= 42 4 = 120 N/mm’
(1 42 824
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300 x 300x 10x 15 (SS400)
= 118.4 cm’
x = 1350 cm’ = 450 cm®
X = 20200 cm’ y = 6750 cm'
x = 13.1 cm y = 7.55 cm
= 30.0 cm
3
oc = o 900000 x 107 _ /e
11840
100. 106
ob = o 100000 x 107 _ o\
X 1350000
k 900.0
Y - = 119.205 K/ y 92
y 7.55
2
o cay = {1,200,000/6700+( k/ y)}x 1.5 = 8 N/
kx _ 900.0 - 68.702
X 13.10
2
o eax = 1,200,000/( k/ x) = 254  N/mm?
o bagx = 210 N/mm’
oc ob
ocay ©bagx 1-0c O eax
42 74
= = 0.911
86 210 x (1 42 254 )
ob
ocC
1-0 ¢ 0 eax
= & " = 131 N/mn’
(1 42 254 )
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300 x 300x 10x 15 (SS400)

= 118.4 cm’
x = 1350 cm’ = 450 cn®
X = 20200 cm’ y = 6750 cm'
x = 13.1 cm y = 7.55 cm
= 30.0 cm
3
oc = o 900000 x 107 _ /e
11840
6
ob = = 10.000 x 10 = 22 N/mn?
y 450000
k 900.0
Y - = 119.205 K/ y 92
y 7.55
2
o cay = {1,200,000/6700+( k/ y)}x 1.5 = 8 N/
2
o eay = 1,200,000/( k7 vy) = 84 N/mm?
obao = 210 N/mm’
ocC ob
o cay obao 1-cc o eay
42 22
= = 0.698
86 210 x (1 42 84 )
ob
oc
l-0c 0 eax
= 42 22 = 8 N/mm?
(1 42 84
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